

13/02/2026

SHARE BUYBACK REPORT

Ariston Holding N.V. (“**Ariston**” or the “**Company**”) announces to have purchased, in the market week from 09/02/2026 to 13/02/2026, a total of 5,443 ordinary shares, corresponding to 0.0037% of total issued ordinary shares and 0.0015% of total issued share capital, within the frame of the share buyback program (the “**Program**”) announced on November 6th, 2025, following the Board of Directors’ authorization resolved on the same date, pursuant to Article 10.3 of the Company’s Articles of Association.

Date	Number of transactions	Number of ordinary shares purchased	Average unit price (Euro)	Total amount (Euro)
09/02/2026	131	2,000	5.0969	10,193.80
10/02/2026	13	126	5.2375	659.93
13/02/2026	40	3,317	5.3456	17,731.36
Total	184	5,443	5.2517	28,585.09

After the transactions listed above, the Company held a total of 4,799,060 own shares in its portfolio, representing 3.2514% of total issued ordinary shares and 1.2880% of total issued share capital.

As a reminder:

- The Program is intended to meet the obligations arising from the long-term incentives plans currently in force or to be adopted, the beneficiaries of which are (or will be) employees or other members of the administrative or management bodies of either the Company or other Ariston Group’s companies.
- Ariston granted a mandate to the authorized intermediary Mediobanca S.p.A. to purchase 1,000,000 Ariston ordinary shares between November 6th, 2025 and May 6th, 2027, pursuant to all applicable laws and regulations including the Delegated Regulation (EU) no. 1052/2016, and the Regulation (EU) no. 596/2014.

A detailed list of the above-mentioned transactions is attached to this press release.

CONTACTS

www.aristongroup.com

Investor Relations

investor.relations@ariston.com

Corporate Communication

corporate.communication@ariston.com

Media Relations

Barabino & Partners

barabino.ariston@barabino.it

DETAILED LIST OF TRANSACTIONS FOR THE MARKET WEEK 09/02/2026 TO 13/02/2026

Date of transaction	Local time (CEST)	Number of shares	Price (Euro)	Value (Euro)
09/02/2026	09:01:13	39	5.0150	195.59
09/02/2026	09:02:28	13	5.0300	65.39
09/02/2026	09:03:02	18	5.0250	90.45
09/02/2026	09:04:01	31	5.0250	155.78
09/02/2026	09:05:01	23	5.0200	115.46
09/02/2026	09:07:02	30	5.0550	151.65
09/02/2026	09:08:03	22	5.0550	111.21
09/02/2026	09:11:47	56	5.0800	284.48
09/02/2026	09:12:06	7	5.0800	35.56
09/02/2026	09:13:03	18	5.0800	91.44
09/02/2026	09:16:43	24	5.0800	121.92
09/02/2026	09:17:09	2	5.0850	10.17
09/02/2026	09:18:04	9	5.0850	45.77
09/02/2026	09:19:01	3	5.0700	15.21
09/02/2026	09:21:13	25	5.0600	126.50
09/02/2026	09:22:19	18	5.0550	90.99
09/02/2026	09:23:30	3	5.0600	15.18
09/02/2026	09:24:05	1	5.0600	5.06
09/02/2026	09:25:12	17	5.0600	86.02
09/02/2026	09:28:29	26	5.0600	131.56
09/02/2026	09:29:07	9	5.0600	45.54
09/02/2026	09:31:02	11	5.0750	55.83
09/02/2026	09:32:05	11	5.0800	55.88
09/02/2026	09:33:04	3	5.0800	15.24
09/02/2026	09:36:19	17	5.0700	86.19
09/02/2026	09:37:05	3	5.0700	15.21
09/02/2026	09:38:03	13	5.0750	65.98
09/02/2026	09:39:03	6	5.0750	30.45
09/02/2026	09:40:03	2	5.0750	10.15
09/02/2026	09:41:03	3	5.0750	15.23
09/02/2026	09:42:02	2	5.0750	10.15
09/02/2026	09:43:04	15	5.0750	76.13
09/02/2026	09:43:04	6	5.0750	30.45
09/02/2026	09:44:02	2	5.0750	10.15
09/02/2026	09:45:03	1	5.0750	5.08
09/02/2026	09:46:04	9	5.0750	45.68
09/02/2026	09:47:05	14	5.0750	71.05
09/02/2026	09:48:01	1	5.0750	5.08
09/02/2026	09:49:22	11	5.0750	55.83
09/02/2026	09:50:06	6	5.0750	30.45
09/02/2026	09:51:04	2	5.0750	10.15
09/02/2026	09:52:08	3	5.0750	15.23
09/02/2026	09:53:08	18	5.0750	91.35
09/02/2026	09:54:14	10	5.0750	50.75
09/02/2026	09:55:05	12	5.0750	60.90
09/02/2026	09:56:04	10	5.0650	50.65
09/02/2026	09:57:03	1	5.0650	5.07

09/02/2026	09:58:05	14	5.0650	70.91
09/02/2026	10:00:44	35	5.0750	177.63
09/02/2026	10:01:03	17	5.0750	86.28
09/02/2026	10:07:50	46	5.0700	233.22
09/02/2026	10:09:01	2	5.0650	10.13
09/02/2026	10:10:01	5	5.0650	25.33
09/02/2026	10:11:04	9	5.0650	45.59
09/02/2026	10:12:05	1	5.0650	5.07
09/02/2026	10:13:04	5	5.0650	25.33
09/02/2026	10:14:02	16	5.0550	80.88
09/02/2026	10:15:52	9	5.0550	45.50
09/02/2026	10:20:11	41	5.0600	207.46
09/02/2026	10:21:18	2	5.0600	10.12
09/02/2026	10:25:14	35	5.0700	177.45
09/02/2026	10:26:04	16	5.0700	81.12
09/02/2026	10:27:03	24	5.0700	121.68
09/02/2026	10:28:03	14	5.0700	70.98
09/02/2026	10:29:03	14	5.0700	70.98
09/02/2026	10:30:50	6	5.0900	30.54
09/02/2026	10:31:31	3	5.0850	15.26
09/02/2026	10:32:17	5	5.0850	25.43
09/02/2026	10:33:19	23	5.0850	116.96
09/02/2026	10:34:03	16	5.0850	81.36
09/02/2026	10:35:48	21	5.0850	106.79
09/02/2026	10:36:27	6	5.0850	30.51
09/02/2026	10:37:00	1	5.0800	5.08
09/02/2026	10:38:05	13	5.0850	66.11
09/02/2026	10:39:04	6	5.0850	30.51
09/02/2026	10:40:01	5	5.0850	25.43
09/02/2026	10:41:25	2	5.0700	10.14
09/02/2026	10:43:04	7	5.0900	35.63
09/02/2026	10:44:20	4	5.0900	20.36
09/02/2026	10:45:06	17	5.0900	86.53
09/02/2026	10:46:06	11	5.0900	55.99
09/02/2026	10:47:02	5	5.0900	25.45
09/02/2026	10:52:14	34	5.0850	172.89
09/02/2026	10:52:32	25	5.0950	127.38
09/02/2026	10:53:01	19	5.0950	96.81
09/02/2026	10:55:32	51	5.1100	260.61
09/02/2026	10:56:05	9	5.1100	45.99
09/02/2026	10:57:05	26	5.1100	132.86
09/02/2026	10:59:04	10	5.1050	51.05
09/02/2026	11:00:04	15	5.1150	76.73
09/02/2026	11:01:01	6	5.1150	30.69
09/02/2026	11:02:01	9	5.1150	46.04
09/02/2026	11:03:04	8	5.1150	40.92
09/02/2026	11:04:02	4	5.1150	20.46
09/02/2026	11:05:04	6	5.1150	30.69
09/02/2026	11:06:01	3	5.1150	15.35
09/02/2026	11:07:04	4	5.1150	20.46

09/02/2026	11:08:01	18	5.1450	92.61
09/02/2026	11:10:43	21	5.1450	108.05
09/02/2026	11:12:34	14	5.1400	71.96
09/02/2026	11:15:17	17	5.1300	87.21
09/02/2026	11:18:31	15	5.1300	76.95
09/02/2026	11:20:28	7	5.1300	35.91
09/02/2026	11:21:10	10	5.1300	51.30
09/02/2026	11:23:22	31	5.1300	159.03
09/02/2026	11:27:37	20	5.1300	102.60
09/02/2026	11:28:18	17	5.1300	87.21
09/02/2026	11:29:09	11	5.1300	56.43
09/02/2026	11:32:55	13	5.1350	66.76
09/02/2026	11:48:05	152	5.1450	782.04
09/02/2026	11:50:02	1	5.1300	5.13
09/02/2026	11:51:02	2	5.1300	10.26
09/02/2026	11:52:02	1	5.1300	5.13
09/02/2026	11:54:43	6	5.1250	30.75
09/02/2026	11:56:51	14	5.1250	71.75
09/02/2026	12:04:04	29	5.1250	148.63
09/02/2026	12:04:04	18	5.1250	92.25
09/02/2026	12:35:49	156	5.1350	801.06
09/02/2026	12:36:02	2	5.1350	10.27
09/02/2026	12:37:04	2	5.1350	10.27
09/02/2026	12:41:10	22	5.1400	113.08
09/02/2026	12:43:02	8	5.1400	41.12
09/02/2026	12:44:01	3	5.1400	15.42
09/02/2026	12:45:04	8	5.1400	41.12
09/02/2026	12:46:04	6	5.1450	30.87
09/02/2026	12:47:02	3	5.1400	15.42
09/02/2026	12:48:03	4	5.1400	20.56
09/02/2026	12:49:05	8	5.1400	41.12
09/02/2026	12:50:06	2	5.1600	10.32
09/02/2026	12:51:01	1	5.1650	5.17
09/02/2026	12:54:47	87	5.1500	448.05
10/02/2026	09:01:02	18	5.2100	93.78
10/02/2026	09:02:01	6	5.2050	31.23
10/02/2026	09:03:05	8	5.2050	41.64
10/02/2026	09:04:06	14	5.2050	72.87
10/02/2026	09:05:06	10	5.2050	52.05
10/02/2026	09:06:03	10	5.2100	52.10
10/02/2026	09:08:09	14	5.2450	73.43
10/02/2026	09:09:02	10	5.2450	52.45
10/02/2026	09:10:01	5	5.2550	26.28
10/02/2026	09:12:25	16	5.2750	84.40
10/02/2026	09:13:02	8	5.2750	42.20
10/02/2026	09:14:31	4	5.3600	21.44
10/02/2026	09:15:06	3	5.3500	16.05
13/02/2026	10:01:53	55	5.3950	296.73
13/02/2026	10:01:55	119	5.3800	640.22
13/02/2026	10:01:56	25	5.3800	134.50

13/02/2026	10:01:57	456	5.3800	2,453.28
13/02/2026	10:02:02	16	5.3800	86.08
13/02/2026	10:10:55	165	5.4000	891.00
13/02/2026	10:10:55	84	5.4000	453.60
13/02/2026	10:10:57	85	5.4000	459.00
13/02/2026	10:10:59	23	5.4000	124.20
13/02/2026	10:10:59	33	5.4000	178.20
13/02/2026	10:11:24	8	5.3950	43.16
13/02/2026	10:13:48	107	5.4000	577.80
13/02/2026	10:13:50	4	5.4000	21.60
13/02/2026	10:17:00	31	5.4000	167.40
13/02/2026	10:17:51	8	5.3950	43.16
13/02/2026	10:21:31	23	5.3950	124.09
13/02/2026	10:22:02	10	5.3750	53.75
13/02/2026	10:22:04	169	5.3750	908.38
13/02/2026	10:27:56	46	5.3550	246.33
13/02/2026	10:28:33	153	5.3600	820.08
13/02/2026	10:28:33	3	5.3600	16.08
13/02/2026	10:28:59	25	5.3650	134.13
13/02/2026	10:29:08	1	5.3650	5.37
13/02/2026	10:29:10	6	5.3650	32.19
13/02/2026	10:29:11	18	5.3650	96.57
13/02/2026	10:29:13	1	5.3650	5.37
13/02/2026	10:29:49	13	5.3650	69.75
13/02/2026	10:30:15	2	5.3600	10.72
13/02/2026	10:30:17	6	5.3600	32.16
13/02/2026	10:31:12	34	5.3600	182.24
13/02/2026	10:33:42	100	5.3500	535.00
13/02/2026	10:38:09	171	5.3500	914.85
13/02/2026	11:39:04	8	5.3000	42.40
13/02/2026	11:46:43	197	5.3000	1,044.10
13/02/2026	11:46:43	328	5.3000	1,738.40
13/02/2026	11:47:13	117	5.3000	620.10
13/02/2026	11:58:31	218	5.2900	1,153.22
13/02/2026	12:00:04	176	5.2950	931.92
13/02/2026	12:14:20	267	5.2900	1,412.43
13/02/2026	12:14:22	6	5.2900	31.74